QUESZAL FEH7|XY = 2ig (2015 )
B =
(THRl: SHOHY, %)
e 20114 20124 20134 20144 20154
EXIL 221,251 312,155 380,000 450,000 575,000
7| 2 xkoH 312,155 380,000 450,000 575,000 630,000
= 2ol 90,904 67,845 70,000 125,000 55,000
HEAREINES) | SXH = EXH =g SEXHH| =g SEXHH| R EXH =g
T2 XAYEY N N EE ALRH A NRERS R
Xt7| XH2CHH|H| & 4 3 3 6 3
XAZo|=EE 13 15 17 21 22
CHoIXtY =
(EH|: BHTHRL, %)
=N 20114 201244 20134 20144 20154
7| X XtoH - 30,000 47,835 80,000 -
7| 2 xkoH 30,000 47,835 80,000 - -
HE 2ol 30,000 17,835 32,165 -80,000 -
S ALS (K122 ) /84 AHXﬂ /8% EHHI /54 EHHI st )
2 Azt 2 Ast 2 At
T2 KAHEY R N EE N EE NERS -
Xt7|Xt2CiH[H| & 1 1 2 -4 -
xegol=g 1 2 3 - -




